Test 10/9/12: Tuesday: It is a lot of stuff, folks.

Please be aware that any inheritance pattern (auto dom, auto rec, x dom, x

rec) we have discussed over the last two weeks is fair game.  Both being

able to render a pedigree that fits the 4 profiles we went over and

knowing which diseases fit those profiles is imperative.  It is critical

that you study the handouts I gave, and that you be absolutely comfy with punnett squares.  The notes you have are effectively free of errors,

and you need to know EVERYTHING on them.  If you have trouble memorizing

the diseases, I beg you to give it some time this weekend.   You also

need to know some hallmarks of those (one to many or one too few) chromosome abnormalities, autosomal and sex chromosomal.  You will see 20 multiple choice covering what is in the handouts, and then 2 large probs…one a pedigree render for by now what is a scarily familiar disease to you for which you already know the inheritance pattern, and the other a blood-typing process of elimination genotyping problem.

Now the other issue is that I am a few hws behind for grading; I can’t stay up past 2 again grading; it is creating an appropriately Halloween-y zombie-like phenotype.  I am confident that you have down the skills I assigned from the hemophilia profile in Kraus before the last test, so there is no need to key it here.  We went over it like three times.  However, for the three problems from

Griffiths, I don’t have sufficient time in class to discuss, so I will give you this quick synopsis.  The problems were p 80/q16 (hw 4), and for hw 5, p81/q29, p84/q48 

80/16:

a metaphase I mitosis 92

b meta I meiosis 92

c telo mitosis 92->46

d telo I meiosis 92->46

e telo II meiosis 46->23

c,d,e: chromosome numbers are halved here because nucleus re-forms.

81/29:

This pedigree is what I call open-ended.  You will never see anything like

this on an exam.  The way I see it, there are three possibilities for

passage of this disease.  This profile allows autosomal recessive (parents

aa male and Aa female), autosomal dominant (parents Aa male and aa

female), and x linked recessive (parents XaY male and XAXa female).  You

figure the offspring--that’s enough info I hope.

84/48:

problem suggests mother is XAXa and father is XAY.

a) outcomes depend on the carrier status of mom.  If she carries, 50% of

all male kids will be affected.  If not, no male kids will be affected.

b) the chances are 50/50 carrier status if you are a girl and 50/50

affected if you are a boy.  Receiving the allele here means different

things for different genders b.c of the nature of sex linkage.

c) If I am female (which I am), the chances I have gotten the allele are

none because the father is OK and can’t pass me the allele.  If I am male

(which some of you are) the chances are none because my father's brother

cannot transmit the x-linked allele to male descendants.

If you have any questions about these, you have got to figure it out on

your own.  These types of problems will not occur on this exam, which is

focused primarily on retention of the disease phenotypes and key patterns

of passage and inheritance.  Limited to no factual recall needed on the

phenotype details.  Definitely  need to know the manipulations for

incomplete and codominance in animals.  significant portion of exam on

blood typing (codominance-multiple alleles) in multi choice and written.

Reiterating, 20 multi choice and 2 written probs.  One is a pedigree you have to

diagram.  The other is a blood type problem you have to punnett out. 

essentially a paternity case model.

Expect next week’s handouts including the hw deadlines and assignment Monday night; I do not want to get ahead of and/or derail this study block for you for Tuesday.
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